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1 2
11m
Work out
The volume is
X 45.3x1.9
“ISm 66 m*Findx.
3 4 5 6 7 8 9
_ _ > Vol : _ _ _ Write down _
What is the reciprocal g volume 12 Convert 56780 ml into | What is the gradient of ' the column Add brackets to make | Work out the first 3
of 2.57 785.4 cm” litres. the line y=6-3x? | vector of this |this calculation correct| terms of the sequence
Find x. N\ 2
line. 6x4+ 3 =42 4n*-1
10 11 12 13 14 Z5 15 16
] What is ) g 2
Expand What is the external the The ratio of boys to | How many edges does o Solve
(3m+1)(2m-2) angle of a regular area? girls is 6:7. What a triangular prism 3x+10=31-4x
' : Work out the area.
hexagon? fraction are boys? have?
17 18 19 21 22 6.4 cm 23
Write an Work out the
expression for size of the How many lines of Two thirds of a num- |What is the gradient of What is
this regular missing angle. | Symmetry does a rec- ber is 18. What is the | the line with coordi- the
pentagon. 41° tangle have? number? nates (3,15) and (5,7)? 2.8cm area?
24 25 26 27 28 29 30
Work out
What is the length of a What is 32% as a the surface | Share $400 in the ratio| Whatis 50km/h in A triangle with base Write 467500000 in
square with area fraction in its simplest area of the 5:3:2. m/s? length of 8cm has an area standard form.
49 m?2? form? 11 cm cube of 40cm?. Find the height.
31
Increase $80 by 23%
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